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Esercizi sulla Topologia della Retta: Risultati

A=) ) 1

aperto;

A= (-2,0]U[l,+0),DA=A=] 1
aperto;

A=ZA=[-3,0U{zs:neN}, DA=[-3,0],04={- 3,00U{ztz :neN}
chiuso, non aperto;

4. A=QnJ0,4], DA=A=0A=0,4]; non chiuso, non aperto;

A=1[0,2]- Q, DA=A=0A=0,2]; non chiuso, non aperto;

5.
.A={§_—ll%§5iﬂ:neN},X=6A={%%2ﬁ:neN}

{-1,1}; non chiuso, non aperto;
A={(1+21)":neN},A=04={(1+1)":n e N}u{e}, DA = {e}; non chiuso,
non aperto;

n3+4n45 | 7
{tnis . n e N}

. A=A =0A={n!:n e N}, DA = 0; chiuso, non aperto;
10. A

=[0,2) U (2,5) U {6}, DA = [0,5], A = [0,5] U {6}, OA = {0,2,5,6}; non chiuso,
non aperto;

11.A={zs € R: |z -5 > 2} = (~00,3) U (7,00), DA = 4 = (
0A = {3, 7}; non chiuso, aperto;

12 A={zeR:1<|z-1 <2} =(-100U[23),DA=A=[ _,_, - - -,
0A = {-1,0,2,3}; non chiuso, non aperto;

13. A={zeR:0<|z+5 <2}=][-T7-5)U(-5-3], PDA=A4=[-7,-3|,
0A = {-7,—5, —3}; non aperto, non chiuso;

14 A={zeR: 2’ +2>2} =(-00,-2)U(l,00), DA=A={z€R:z2+2>2} =
(—00, —2] U [1,00), DA = {—2,1}; non chiuso, aperto;

15 A={s€R:0<z+|z+4 <2} =(-2,-1], DA=A = [-2,-1], 04 = {2, ~1};
non chiuso, non aperto;

16. A=A =0A={2,3,70}, DA = 0; chiuso, non aperto;

17. A=A=NuU(1,2), DA =1,2], dA = N; chiuso, non aperto;

18. 4= { eNfU (1,3 PA=[1,3), A= {32 :n € N} U[1,3], mentre 94 =
{ﬁ in € N} U {1, 3}; non chiuso, non aperto;

19. A=DA = A = 0A = 0; chiuso, aperto;

20. A=DA=A=R, 0A = 0; chiuso, aperto;

21. A=A =0A={n193:n e N}, DA = 0; chiuso, non aperto.



